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Section 6.1 - Sum and Difference Formulas

Note: sin(A+ B) = sin(A) +sin(B)
cos(A+ B) = cos(A) + cos(B)

Sum and Difference Formulas for Sine, Cosine and Tangent

sin(A+ B) =sin AcosB +sinBcos A
Vé'% sin(A—B) =sin Acos B —sin Bcos A
'T”Fh@r cos(A+ B) =cos Acos B —sin Asin B

cos(A—B) =cos AcosB +sin Asin B

tan(A+ B) = tan A+tan B
1-tan Atan B
tan(A— B) = tan A—tan B

1+tan Atan B
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Example 1: Simplify each:
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Example 2: Given that tan(x) =5, evaluate tan(x+37”).
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Example 3: Simplify each. LU&QQ Ws@_ 5:,\()(—

8) zsfn,(ceS;S —casAsk;S

<
a. sin10°cos55°—-sin55°£0s10 le& a.:dj
— Sin10° cpg 55°— (0510 ~5in5S°
. a
— ,5]"/\(LO'°__55D) — éir\(-'"hso) = — Sln Afj' - |- E_E
Z_

T 1 . (x\. (Trx
b. cos| — |cos| — |+sin| — [sin| —
(12) (12] (12) (12

j We (L we. CQSQL- )?—CB.S&CBS +51nx.Sin
] &Y
= (0% T T

bao\iwd <
2 2

= o5 (“%’}: c»s('%} = 0

o, SCLNS () 0%es?) e an (pig) = Tonk + B
1-tan40°tan5° (— tan At T
= —é-‘-/\ 4-.5_‘0 = _L u
lcuclcmfds

tan 80° — tan15°

d. —_— ( e —0
L+ tangoran1se ~ Lo ( 80 157)

e aa4-) = tuh —
{ +tan Aas®
(6

‘t_________/

bu r_j«ﬁu_m\rdﬁ



Example 4: Find the exact value of each. (Hint: use sum/difference formulas)
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Example 5: Suppose that sina = g and cos g = % where O<a < S < % Find each of

these:
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Example 6: Suppose cosa =land tanﬂ=—Z where 7 <a, <27 . Find
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